16-Jun-2005 03:09 PM

F:\StanDraw\st61780.dgn [Metric]

STATE PROJECT i
2930 NOTE:
1 75 12 21 125 7 1 1. For details of the wood block-out, post notch, and general
90 - 5;‘= 5=‘= 20 - 5=‘= 5=‘= 90 g notes for Steel-Backed Log Guardrail. See Standard M617-81.
Ln .
"’i ‘ 18 dia.holes (typ.) ‘ ) 2. Furnish hardware in the metric sizes shown. Equivalent US
$ [} Customary sizes may be used when metric sizes are not
Q: © 0 ° ° o o o available.
) 22 dia. holes (typ.) \ )
© © °© °© ° °© © End of 3. Dimensions without units are millimeters.
T log rail
Y ¢
390 250 6 spaces at 275 = 1650 250 390 30
STEEL RAIL
150 x 10 x 2930
125 dia. x 25 depth recess 750
M20 x 250 carriage bolt 22 dia. hole (typ.) . .
w/hex nut & washer (typ.) 10 225 75 250 dia. x 2990 log rail 75 75 225 L 225 75 75
Ln
\ | typ.) | | (typ) / ! ‘ ‘ ‘ ‘ ‘
P See oo
. i ‘/ T g | ©© o o R
N i ih il ih D Y
N oo o T i o o N
woah I ¥ SR
¥ T S lnT 20 x 55 bolt slot
? ? ? ? K 22 x 35 bolt sl
150 x 10 x 2930 steel rail M16 x 100 lag screw Pre-drill X 35 bolt sfots (typ.)
10 mm holes 90 deep in timber rail STEEL SPLICE PLATE
200 x 140 x 200 wood 150 x 10 x 750
150 x 10 x 750
steel splice plate block-out (notch post 40)
M16 x 425 carriage bolt Plate washer 120
w/hex nut and plate washer 19
PLAN
220\ 100 300
250 dia. log rail
> 4 TN 250 dia. x 2990 log rail o 0
L
/ ™ 18 dia. hole
I~ centered in washer
S S 6 thick
ol OO OO |o — '
i PLATE WASHER
© O © 0 -+ 1 o :\ Plate washer
/ I ®y
! 125 dia. x 25 depth recess
150 x 10 x 750 150 x 10 x 2930 \ M16 x 425 carriage bolt
steel splice plate steel rail w/hex nut and plate washer
\n
\ S ™ 300 dia. x 2100 log post
300 dia. x 2100 log post placed at 3000 centers
placed at 3000 centers
600 min.
-— Max. slope 1:10 —~
U.S. DEPARTMENT OF TRANSPORTATION
| | | | FEDERAL HIGHWAY ADMINISTRATION
> A | | | | FEDERAL LANDS HIGHWAY
[ [ [ [ METRIC STANDARD
[ [ [ [
‘%\ﬁ‘ ‘%\ﬁ‘
STEEL-BACKED LOG RAIL
ELEVATION SECTION A-A
POST CONNECTION
NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
REVISED: 6/2005 M617_80




